        THINK
Show me a shape with an area of 12 square cm


Show me all the shapes you can find with an area of 5cm2
EXPLAIN
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SOLVE
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Answers
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Eva is incorrect

because she has
®) 265 +27=282 not exchanged ten
ones for one ten or

Eva shown this in the
column method,
Here is her working out:
She should have
5 added an extra ten
to the tens
7 column. The
> correct answer is

292

+
®|n o

2

Is she correct? Explain why.
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Teddy and Eva are measuring the area of
the same rectangle.

Teddy uses circles to find the area.
NN
PANAN

Eva uses squares to find the area.

Whose method do you think is more
reliable?

Explain why.
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Dexter has taken a bite of the chocolate
bar.

The chocolate bar was a rectangle.
Can you work out how many squares of
chocolate there were to start with?
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Here s a rectilinear shape.

Using 7 more squares, can you make a
rectangle?
Can you find more than one way?
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Rosie thinks 352 — 89 = 337 Rosie is incorrect
because she has

H T O sublracted the
digits in a different
il order nstead of
- 8 9 exchanging
5 7 The answer should

be 263

Is she correct?
Explain why.
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Investigate

Does adding and subtracting onesto a
3-digit number only affect the ones
column?

Does adding and subtracting tensto a
3-digit number only affect the tens
column?

No, the ones can
changethe ones
Column andany
columnto the left
eg.123+ 9and
402-4

The tens column
can change itself
and the hundreds
columneg.

456 + 50 and
456-60

When adding and
subtractingfrom
any column,it can
onlyaffectits own
column and

columns to the
o




